
1 Prove that 
i) P(A) = P(A nB) + P(A nB) 

(ü) P{A UB) = P{A nB)+ P(A nB) + P{A nB) 

PIA) = P(AnB)+ P(AnB) 
RHS P(An)+ P(A nB) 

= P(A) P(B) + P(A) P(B) 
= P(A)P(B) + P(B)] 
= PA)IP(B)+ 1-P(B)] 
= P(A)=LHS 

)* 

:PB)=1- P(B)]
Hence proved. 

i): P(A UB) = P(A nB) + P(A nB) + P(AnB) 
RHS P(A) P(B) + P(A) P(B) + PA) P(B) 

= P(A)- P(B)+ P(A)-[1- P[B)]+ [1- P(A)] P(B) 
= P(A). P(B) + P(A) - P(A). P(B) + P(B) -P(A): P(B) 
= P(A) + P(B) - P(A). P(B) 
= P(A) + P(B) - P{A n B) 
= P(AU B)=LHS Hence proved. 


